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OET-001 : WORLD OF CLAY 

Time : 3 hours 	 Maximum Marks : 70 

Note : Answer six questions in all. Question no.1 is compulsory. 

Answer additional five questions from the remaining 
part. 

Compulsory Question 
1. 	Choose the most appropriate option from the 

following : 	 10x2=20 
(a) 	Biscuit firing is done to : 

(i) Dry a pot 
(ii) Bake biscuit for pets 
(iii) Impart strength to pot 
(iv) Make pot glossy 

(b) Pinching process is used for : 
(i) Making cylindrical coils of clay 
(ii) Making pot by pressing clay between 

thumb and index finger 
(iii) Increasing plasticity of clay 
(iv) Reducing plasticity of clay 

(c) Which of the following is a secondary 
colour ? 
(i) Red 
(ii) Green 
(iii) Blue 
(iv) None of the above 
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(d) Which of the following is a variable of 
marketing mix ? 
(i) Money 
(ii) Product 
(iii) Education 
(iv) None of the above 

(e) Jabra dog was Baba Bharti's favourite pet. 
(i) True 	(ii) False 

(f) Which of the following is a tool used for 
product promotion ? 
(i) Inventory 
(ii) Advertising 
(iii) Transport 
(iv) None of the above 

(g) " Introduction, growth, maturity and 
decline are the four stages of product life 
cycle ". 
(i) True 	(ii) False 

(h) An example of a symmetrical object-shape 
is - 
(i) Circle (ii) Knife 
(iii) Stone 	(iv) Tree 

(i) 	The poet of the following verse is - 
" 	q1r,m 1g .t1q7:11:171 
4 91-1 	-at 	Trr 	'TT AR' i" 
(i) Tulsi 	(ii) Rahim 
(iii) Kabir 	(iv) Raskhan 

(j) 	" Likert scale " may be used for - 
(i) Catalogue design 
(ii) Questionnaire design 
(iii) Production 
(iv) Pricing 

2. 	What is the message of the story " Poos Ki Raat " 10 
(71 Td)? 
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(U) 	"-r-ff-*--  TE- F" (3-T-1-11rcr) wr -ci-trr f--*-zrr Altil 
t : 
(1) 	tz—MfIT rs,sti-i t rc,i 
(ii) 1k•Ilc1(41 --iT4 *. fi-R 
(iii) 3041q-I t f 	clI 

(iv) 17:f fiffkur fffR 

2.  "1:0 -1- Tru" -u91--44 -rznTtkqrt? 10 

3.  -cu a, TR 	1.) frr-gl -9-r-4 	raRT 	--d-q-41 10 

4.  LIRLIRch, -a-9-r-4fitdirachRict 	24-r -la f -I 	d ---ocrr-q'i -4 cril 
af-d.  t? 

10 

5.  alift cbc-4-il 	.) 	v mrro--q Ykl 	r-clA 	-9-r4 I 10 

6.  fllt 	4N chl 91gTh4trr-6 -4 -tzlwrzr Ant? 10 

7.  3T 	c31 -1-  f-4-4-4-c4 t rcii 	1 711—A7TtITT ctl.  I 10 
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3.  Write the process of forming a bowl of clay on 
wheel. 

10 

4.  What is the 	difference between existing, 
recreation/upgrades and new production 
creation ? 

10 

5.  Imagine and draw a sketch of a running pet. 10 

6.  Describe the process of drying of pots before firing. 10 

7.  Develop a strategy to promote your product. 10 
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1. 	P-1 4-iroficl Nor c-H • 	Tr-41-r4 -a-crp?r Fci (-Li TR 
(✓) fffvrF oJtior) 	: 	 10x2=20 

(a) 	F.&;ne. Lt,N (41 ch 'I 	11  t : 

(i) ro 

(ii) 7E01\  ,.taff 	GiR-che. e=c11 	T4(1) 
t iris 

(iii) TEN TIF -q-914 t 	o 

(iv) ITN chl -.14onqR > t ro 

(b) 	Trrwzri 	' -crtrr fwzrr 1lc11 t : 

(i) firgi ch.1 	 t ro 

(ii) 3 	a.4-[l t .11 gaunt  yii 

Lcil 
(iv) fi:It cril LoAdcnot ch4 	ro 
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(c) 
(i) 
(iii) 	 (iv) -3-9-4-4ff 

(d) 	14-1 orod 	 4114,11 4-14\LI 	i cical 
t? 
(i) 

6c(-11 
(iii) fvikri 
(iv) 314-4.t-ci -4 A 

(e) 	i 	1fr f c11011 9-TRt 	f 7-11:1 -1 1:1M-I\AIr1c 4T: 
(i) 	 (ii) 	10 	CI 

(f) r~irrir  d -4f-*-Trwr .5R1-1-Tr 	snvrfff 
;11c11 t : 

(i) 
-5MTT 

(iii) trft-q--0 
(iv) T:171  

(g) "3T1-q 

	

	 t- 1:1#974, 
cV-R-chell 317 Wil" 

(i) 	 (ii) 	'Rid 

(h) TITIf1=17 q11 t : 

(i) Sri 	 (ii) 

(iii) trczTT 	(iv) 	 

(i) 	-1 4-1 ri Oti 	t : 
"Afl 	azg,T, 	ATrr7 

9i-grrT4 ANT iffr Awl" 

(i) 	 7t-4 
(iv) “-101-1 
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